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Question Number : 1 Question Id : 5244763901 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

15 the basic unit of life.

&2 1808 ¢3S DA 28550 TBE), [ETAHE CHTE.

Options :

1. Protemn
e BHSS

2. DNA
2. %

5. Cell
e 380

4. Chromosome
E S



Question Number : 2 Question Id : 5244763902 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

1s the prominent difference between prokaryotic and eukaryotic cells.

1758 5838 DO OIS OAZTEIE Ze97€> 0EIS €963 SNV I5EFE0

Options :
1. Nuclear membrane

1. ¢ mggEﬁ)E} VO]

2. Cell wall

3. Ribosomes
e B S Swen

4. None of the above
B EED

Question Number : 3 Question Id : 5244763903 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In prokaryotes. the ribosomes are

58150 & BESS a0 SGOEFON
Options :
. 1 80S



L% 2. 60S

™ 3. 708

4. 80S & 70S

Question Number : 4 Question Id : 5244763904 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Due to activity, Iysosomes are called as “suicide bags™.

507G SBLIOM BIFS OD "e865537eh ¢ HOTHEN" L90EFXD.

Options :
1. Metabolic
. 580D
2. Catalytic
A GAeE
3. Parasitic
DO



4. Hydrolytic

Question Number : S Question Id : 5244763905 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is found with balbiani rings?

BB ¢3S O 20T BONOE EDARIDB0E?

Options :
1. Polytene chromosome
L O3S (8RS o
2. Heterosome
AP VATOZ VA

3. Autosome

et
3. %
4. Lampbrush chromosome
. 0D (D (TS o
4. - )

Question Number : 6 Question Id : 5244763906 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Cytokinesis 1s the term used for division of
T EAIR ORE —mmmv ABE) D2323c380 GHATAOD DO

Options :
1. Synapsis
VTT0)

2. Cell nucleus

O drgBah™

3. Cytoplasm

— f
v QY T30
4. Chiasmata
(AIOVN I
4, %

Question Number : 7 Question Id : 5244763907 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

DNA is not present in

& 1808 BAS DNA B

Options :

1. Nucleus



2. Lysosomes

SIS 0N
2.¢ o
3. Mitochondria
. DE oA
4. Chloroplast
§EI D (TBed Deod)
4, %

Question Number : 8 Question Id : 5244763908 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Alleles are

A5 DEETIEN D)
Options :

1. Alternate forms of DNA
DNA G308}, 0875607 O S0arre)

2. Alternate forms of RNA
RNA G308}, (20875057 O Soarre

-

3. Alternate forms of chromosomes
1T RS 0O (DETsadm) O Boarren

3. %



4. Alternate forms of genes

2305090 (2085°5030°) A% Ao%are)

4.

Question Number : 9 Question Id : 5244763909 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
The process of suppressing one gene activity by a non-allelic gene activity i1s known as
o =5 ]
0BT 52 23:05 ©IBS T30 28 23:05 5058 @D (DA
90ED

Options :

1. Hypostasis
TR

2. Pseudo-dominance
0768 @3ONEB50

2. %
3. Incomplete dominance
. 00"Q e3HNEBLO

4. Epistasis
AT TN

4. v



Question Number : 10 Question Id : 5244763910 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The genotypic ratio of monohybrid cross 1s

IS SHDE (570 T3y B0FETD A )ed

Options :
L L. L2
) 2. 12
; u 3. 2t
4w 4. 1:1

Question Number : 11 Question Id : 5244763911 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The importance of satellite DNA is
Fe3SE) DNA O30, (o0 §ed

Options :

1. Exlibit high degree of polymorphism in population and the same degree of
polymorphism in an individual that 1s heritable from parents to children.
207ere) @OE o) OSr0)230 B0 DSOS O DOO

B0 5D 55865° €078 0w TFORTBIBEOM (HBBIOTIHO.

1. ¢



2. Codes for proteins to be needed in cell cycle
S DESEZY @9550E T (8IS D60ETSE I

2. %
3. Codes for enzymes to be needed in DNA replication
DNA [D&3ET06S” @9890E RS OB DedBT0 1€
3. %
4. All the above
) Y

Question Number : 12 Question Id : 5244763912 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

was discovered by Frederick Griffith.

Q [DEO5 (A Ecofiier) .
Options :
1. Transformation
L BTSN IO NN
2. Central dogma
. B0 DT0H0

-

3. Transcription
29T



4. Translation
L DD N0

Question Number : 13 Question Id : 5244763913 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Taylor used to conduct the experiments to prove semi-conservative mode of
chromosomal replication.

BTS00 BBA® 305 aN-83)10.5838 BE DBTDOHTEE Tae>D
Q) TraO3H0TICR.

Options :

1. Pea plant
2% J08),

2. Drosophila
2. & L_‘C}ﬁ 53&3;}(?_}“

-

3. Vincarosea

D), B0

4. Vicia faba
D O e

4. v



Question Number : 14 Question Id : 5244763914 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
is the geometrical device that utilized to find out all the possible combinations of
male and female gametes.
9 DM OO €8¢ eI ABNEY ) PSS Eeronderad
EOTRHETRE GIBrA0D DFriedes HBEG0.

Options :
1. Bateson Square
e 23630 0 50
2. Punnett Square
w : =5 =
Lo T 0
3. Mendel’s Cube
DOTO §°5d
3. %
4. Mendel’s Square
L HoBSE .50

Question Number : 15 Question Id : 5244763915 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Nomn-sense codons mvolved in

T°S-) SN &2 (8o ¢3S e 0erom

Options :

1. Terminating message of gene-controlled protemn synthesis

23005-Q 300 83¢% | IS HOBED ABNEY, SSMAOY) HODFO

1.v
2. Conversion of sense DNA into non-sense DNA
R00.) DNA Q &°- 00 DNA 17° o079 )50
2. %
3. Releasing unspecified amino acids
82,5238 €IS’ €367 DR OO
3. %
4. TInitiating amino acid synthesis
. SN ATPNE DOFALD (30200
4.

Question Number : 16 Question Id : 5244763916 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The two complementary strands are held together by in DNA.
BOCR DOYBESTS 50e865e0 DNAS' D¢ 8O BOLTow.
Options :

1. Phosphodiester bonds
TFIBND 2oTTen



2. Covalent bonds
HeNAT2ZAAD 2OTTEN

b

Hydrogen bonds

- EBS 220570

4. Glycosidic bonds

TSVAS 207ewn
4. %

Question Number : 17 Question Id : 5244763917 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Genes are influenced by promoters are called

25O (DATFVH0 T (D3I 90T
Options :
1. Operons
| 200000
2. Codons
TNV
2. ® =

3. Anticodons
10e38°CHeD



4. Genetics
23000577 VO

Question Number : 18 Question Id : 5244763918 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The histone octamer composed of the following proteins.
TS TS0 (OB (¢3S B G0N0
Options :

1. H2A, H2B. H3 and H4
H2A. H2B. H3 200050 H4

1.
2. H2A and H2B

, H2A So8ci» H2B
3. H3 and H4

- H3 208030 H4

4. H2A and H4
H2A -6a%) H4

Question Number : 19 Question Id : 5244763919 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response



Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which statement 1s true about Central dogma.
08O T HOOD o (DEEIS D30.

Options :

1. Transcription and translation of genetic information
DB DI sDOO5N ETEI0 TEET® 226308 DTS 0

12

Transcription. translation. and suppression of genetic information.

293N, €90 DBON EII53ed TI°SO° 23805 I OO

3. Transcription. translation. and expression of genetic information.
9 DBNIRN, N0 OO 5588360 750" 23805 DTG0

3. %
4. Process of genetic information transferring through replication, transcription and
translation of DNA or RNA.
DNA &Sz3° RNA G30%), (63893, 290088036300 eDOAN €9c0eC0 t°0e
23808 DTS 26 (HIBOD.
4. &

Question Number : 20 Question Id : 5244763920 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



The following base is found only in RNA.
806 e373°30 RNAS &7 ehad EADN0H.

Options :

1. cytosine
25°S

2. thymine

Lo BDS
3. adenine

s OTBO®
4. Uracil

4 OMVO

Question Number : 21 Question Id : 5244763921 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
1s the vector used in gene transfer to produce pest resistant tobacco plant.
RO BHEN ABEE B BE) D Coed ) DONTTVE 236308
&
26O &IHBrA0D IEO.

Options :

1. pBR322

1. ®




2. Tiplasmid (27°0&)

2.¢
L 3. pUC 18
r 4. A phage

Question Number : 22 Question Id : 5244763922 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Klenow fragment is derived from

38 #8000 0GB &YVODOE

Options :

1. DNA PolI
1. v

DNA Pol IT

2
2. %

3. DNA ligase
. DNAOND

4. Reverse transcriptase

BIB 1EF ) S



Question Number : 23 Question Id : 5244763923 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

A radiolabeled. single stranded molecule of nucleic acid 1s known as

DABFS20O TADED A375801T €800 ABNE), VOAD |TOTE NI

0EF.
Options :
1. Probe
185
1. B
2. Vector
va D
3. Allele
. O30 5O
3.
4. Plasnud
NN
4, %

Question Number : 24 Question Id : 5244763924 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Name of the first transgenic cow?
B0CHE3 23:305095°8 )3 €869 0H?



Options :

1. Daisy
5
1. % o
2. Rosie
2 W Efc%
3. Dolly
e @D
4. Mary
pe WO

Question Number : 25 Question Id : 5244763925 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The first transgenic cow produced milk was enriched with grams protein per litre.

S0E3 BTG €359 B5¢531E3 DOV 2N OEDE (T30

(3RS Do0YOMT @0AOIDB0A.

Options :

1. 24
1. ¢

2. 34



Question Number : 26 Question Id : 5244763926 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

is used to create copies of whole animals.
[0 23065090 T EFPOS0ITVE EBTAOI2CERN0E.

Options :
1. Embryo cloning

. 250250 §0R

2. Therapeutic cloning

- w8y 563}{;}5
3. Reproductive cloning
s HdSB3E FA0H
4. Gene cloning
23805 §0h
4. % =

Question Number : 27 Question Id : 5244763927 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following plant is used to produce genetically engineered golden rice?
80A a¢36S 2305DB0M BOBVBON DONDEGN 20T 2)ONSO c5ed )&
DONER8E eNIBTROD BNEY DE?

Options :
1. Oryza sativa
2,823 aré3ar
1. ¢
2. Oryza latifolia
i} 2,023 e33O as
2.
3. Oryza glaberrima
- 2,023 23| Ba®
4. Oryza rufipogon
L 2,023 ST

Question Number : 28 Question Id : 5244763928 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The process of microbial intervention to convert toxic waste to less toxic or non-toxic
product 1s

DASTBES 555T°I0 580,05 DAY O BT DAGITE €568 1T 253385 T8
078 228s9e> EE50 (DHBAD

Options :



1. Bioconversion

2203785500

2. Bioremediation

- OIS A VR IOV TN
3. Complement fixation
YO8 DOBESE
3. %
4. Precipitation
s €9095)°€50

Question Number : 29 Question Id : 5244763929 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which remediation approach involve to remove groundwater or soil from its natural
setting?

2357158523070 B $NEIR) TR AIre3 9508 NOG SOROVGERE o)
QO£ DTTN0 EFOLNOE?

Options :

1. Ex situ bioremediation

25 VN 2BV

1.¢



12

Bioaugmentation

P AICN VTP HIOTANEN
3. In situ bioremediation
- QR VEW OB BODND
4. Mycoremediation
L FOAAS
4.

Question Number : 30 Question Id : 5244763930 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Phytoremediation 1s the process in which using to destroy soil and ground
water confaminants.

2D TOBTIAS 9E DO SNOCIN 257(G ) 23677 EENNEFORD ™35S0

DONTETRE Q EORBFA0D (DEA%.
Options :
1. Algae
363
1. % }

2. Bacteria
) % a'j"é@dij"



3. Plants
1w nEren

4. Fungi
IO LARIN

Question Number : 31 Question Id : 5244763931 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Trichoderma harzianum is a biological control agent used against

IDEToT) OO0 @R 2855 DANO|eHE9 DBOES &3 1BOE E5HODNS BAS
DA E

Options :

1. Fungal contamination
DONDO TENAEO

1. ®
2. Water contamination
DeE3 e L0
2. % £
3. Soil reclamation
. 308 DSBS

4. Phytopathogens
DEFEBD



Question Number : 32 Question Id : 5244763932 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the statement 1s true about renewable energy?

SHSEETNE $88 H020H0DN (DEEISS” DA 230?

i. Energy obtained from natural resources that can be regenerated continuously.
i1. Energy obtained from static forces of energy that remain underground unless released by
human interaction.
iii. Energy supplied by finite supplies or Brown energy.
. Itis also known as Green and sustainable energy.

i QB0SB0 $)BE5 I TONHE DST23 I (OB FOAS 48

i, 0969 HBDIB 2385 T° 50 DN DODNEFS 2371150 &OT 0SS 8§
F500> OB FodD 8.

iil. O DADT N B 12370 DIQ T°LT° DADT® oA ¥8.

iv. AA AS HOGAIN RN DY & J°ca° 90ET.

Options :

1. 1andiv
1. v

2. nandiv
S

-

3. ilandiii



4. 11 and 1v
4, %

Question Number : 33 Question Id : 5244763933 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

is the major composition of biogas.

2DAZFTTE ) ANEY, (2050 BF0).

Options :

1. Carbon dioxide

- SRR OISR
2. Methane
Lo DS

-

3. Nitrogen
3 % Q€523

4. Oxygen
@38 Y23

Question Number : 34 Question Id : 5244763934 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

An example of non-renewable energy source.
DRETNE 38 33D B0 G .



Options :

1. Solar
Lx 0

2. Wind
2. F4 ﬁba

-

3. Geothermal

L TG
4. Coal
sy D0

Question Number : 35 Question Id : 5244763935 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Biogas 1s produced by

806 °¢365° DT DO Eeh)ed TNOE?

Options :
1. Anaerobic digestion

P OS0Gared 22Q8a%H

1. ¢

-

Aerobic digestion

DTS 2P 8w

2. ®



Presence of fertilizers
D) 508

Tl

4. Presence of oxygen

4% &8 3y230 508

Question Number : 36 Question Id : 5244763936 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

A solar cell 1s an electrical device that converts the light energy into electricity by

208 D0 A 5703 38 DM 5570 ) V5B HOESO
Options :

1. Physical effect hydrogen battery
2B 102790 EBS 2r5edd

2. Photoluminescence

S OTEDA )
2. %
3. Photovoltaic effect
. S EONE (27750
3.

4. Chemical effect

SrOD 102700



Question Number : 37 Question Id : 5244763937 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The following 1s used to produce electricity by mechanical energy.
O5°0| €38 38 350" DN E5eh €3 DONTRVE 180 5°¢3R) AT .

Options :

1. Wind energy

e 38
1.v
2. Solar energy
G348
2. % =
3. Ocean energy
PR S R

4. Geothermal energy

23csa) 48

Question Number : 38 Question Id : 5244763938 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is the general formula of carbohydrates?
80 ¢3S SO ) ITBEL S 3en AFEH0 DE?

Options :



| I. (C4H30}I]

N 2. (CsH2Om
3. (C;H,O)n COOH

" 4. (CH:0)n

Question Number : 39 Question Id : 5244763939 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Molisch’s test 1s used to analyze the presence of in a given sample.
AD IS SdrereS &8 DIN0NTIE Fd HBE
C500 03" 0THD O
Options :
1. Lipids
EEVISN

12

Carbohydrates

- NOCE DTIT™EN

3. Flavoproteins

N IARN



4. Mucoproteins

SWISTSIARNY

Question Number : 40 Question Id : 5244763940 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Protein deficiency 1s caused by disease.
1E38 5700 SO 56 SO
Options :
1. Kwashiorkor
s 5 20330
2. Pellegra
3. Rickers
. 838

4. Scurvy

5,68

4,

Question Number : 41 Question Id : 5244763941 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



1S a carrier protein.

$cBG0D | IS,
Options :
1. Albumin
- ISV
2. Keratin
) 3073
3. Hemoglobin
TVRIEAN
3. ¢ i
4. Casem
=
x5S

Question Number : 42 Question Id : 5244763942 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Amino acids are building blocks of :

LIS’ eI 2 oh 2>8).
Options :
1. Lipids
Ed5en



2. Protems
Lo SN

3. DNA
3. %

4. Carbohydrates
r DO DTPT°EN

Question Number : 43 Question Id : 5244763943 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The 1soelectric point of amino acids is defined as the pH at which

SRS 36370 NIV 58 aronoed 9T 2.8 pH A3

Options :

1. The carboxyl groups are uncharged
570°)8 3O D3N 5370 TONICH)

1. ®

2. The molecule carries no electric charge
COEDY DENO0LS DENITTRTR) EOA GO

2. ¢

Amino 1s group is uncharged

NS 225 |70 D70 DOV

(43



4. Maximal electrolytic mobility
. fiea D05 SBIED TIODFr65
4,

Question Number : 44 Question Id : 5244763944 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
Pick-up the correct non-essential amino acid from the below.

A 0B DB TS-TVVOND IS’ AR S30H0A.

Options :

1. Methionine
L% DETTAD

12

Glutamic acid
v (DEFS OSrRG

(4l

Histidine
3 % ij"gri@févﬁ

4. Tryptophan
Lx BT

Question Number : 45 Question Id : 5244763945 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



The dietary fats are hydrolysed by in the intestine.
3555 §°69.500 [DDOS Q) &2 OB T ST° BEODBNED TOCVETTON.

Options :
1. Pancreatic lipase
Lo orso8aire3s O
2. Tracylglycerol lipase
- IBASFVOAITS R

Protein kinase

. 1838 82

Lk

4. Adenylate cyclase

OTBISED B

Question Number : 46 Question Id : 5244763946 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

is the most essential nutrient during woman'’s pregnancy to prevent birth

defects.
1R (8550 DDODOET sHENES' 933) €S'aTreredd AarBOoITE

€955065 @95 RN &S 0.

Options :



1. Vitamin A
s P s P

2. Vitamin C
Lx DODSD

3. Thiamun
AOST®
3, %
4. Folic acid
L, OSOrRG

Question Number : 47 Question Id : 5244763947 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

helps in clotting of blood.

380 HBEEBOES DIFONNCRER0A.

Options :
1. Vitamin C
I ™

2. Vitamn K

v OWSS



-

3. Vitamin A

xS

4. Vitammn D
Ve G

Question Number : 48 Question Id : 5244763948 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The four pyrrole rings are linked by in porphyrin.
TeND DES Borhen FFEHBSSS e 5o”
9RO OTIDIOW.

Options :

1. Methylene bridges
AR HOBHEN

2. Methoxy bridges
D8 Y HOBIEN

3. Methine bridges
DB OB

4. Methyl bridges
DTO HOBHEN



Question Number : 49 Question Id : 5244763949 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The part of the enzyme where the substrate binds 1s called

DOBNES’ D VE DOAOT TR DN 90EFED?

Options :
1. Active site
[BaSraed e
LY B
2. Catalytic site
L CIBIBERS
3. Binding site
230500 &
3. % = =
4. Non-specific site
D°R- ) VNS E
4. %

Question Number : 50 Question Id : 5244763950 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Lock and Key model of enzyme action was proposed by

DOB TIBE B3EY €78 0BG § B (DT AOIDGS T3

Options :



E. F. Sanger

. F. 900
1.
2. Edward
e 60
3. Erwin Chargaff
2B £ T
3. %
4. Emil Fischer
i DoDO DD

Question Number : 51 Question Id : 5244763951 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the mcorrect statement about Glycolysis pathway.
OOV SO0 MHBOD) €55 1DEEID DOTNE 0.

Options :

1. An oxygen-dependent metabolic pathway.

38 y230-e375°0¢5 235518a% S3d0.

I3

An oxygen-independent metabolic pathway.

€38 1235-0 56501 €5 2355 8% 33700



3. Takes place in cytoplasm of the cell.
£690 TB0E), DE 2306 BBHEROA.

4. Breakdown glucose into pyruvate and energy

(978%25 Q 2HED aDBO FEM 252200

Question Number : 52 Question Id : 5244763952 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

molecules of acetyl-CoA created from a single molecule of glucose that enters
into the Kreb’s cycle.

D) DVTIS-CoA €9e0HEN B ) HE0S & (DSF0D 2.8 (T6%5 o
D)ROTIDCEEFTO.

Options :

. 2
1. ®

2, 2
2.

3. 4
3. %



Question Number : 53 Question Id : 5244763953 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

1s produced by catalytic activity of maleic dehydrogenase.

S8 BT R BT GBS IS5 s 5653163 95900,

Options :

1. Succmic acid

- Q8 HAS A&
2. Maleic acid
. eS8 A&

Fumaric acid

s x 5008 A

Lad

4. Oxaloacetic acid

3% Y5 e920e35 oS

4.

Question Number : 54 Question Id : 5244763954 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
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Electron transport system is occurring in region of the mitochondria.
Do BT D BFOSH0ES DOITS ST 69830 SIS OE.

Options :



1. Stroma

Lx @S
2. Mafrix
PR VLS DI

3. Immer membrane

e DO S

4. Outer membrane
25 SO

Question Number : 55 Question Id : 5244763955 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which type of fermentation is seen in yeasts?
& ¢ v o o, WA
80 o) B 8625 (DBODH EDDN0E?
Options :

1. Lactic acid fermentation

e85 OrG 8625 |1DI8OD

2. Alcoholic fermentation

€305 53°¢)8 8ea ¢ (2 8aD

2.¢



3. Butyric acid fermentation

225°5(¢35 A& 89§ 1DIBAD

4, Acetic acid fermentation

D235 OSTE 8ea S (EODH

Question Number : 56 Question Id : 5244763956 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Pick the correct option that protects our body against microbial attack.

528 228590 TP 0G D 38T B80T OB D0DE OB,

Options :
1. Excretory
Lx OO0
2. Digestive system

3. Immune system

EEIATDE S558

4. Immunodeficiency

SEAENE 48 SHo



Question Number : 57 Question Id : 5244763957 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

B-cells and T-cells are participated in
B-Eere s0Ba5m T-8e77ex &2 (DEADES” oS 0y om

Options :

. Acquired immunity

LoD BHEAS S 48

1.¢
2. Innate immunity
e OB BEIODE 48
3. Active immunity
Basrae) 8ENOHE 48
3. %

4. Passive immunity

Q0,09 BEISHE 58

Question Number : 58 Question Id : 5244763958 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

presented in oral polio drops.

SE3 7507 D) PO 8 e 90O0IDER0O.

Options :




1. Gamma globulins

e T DO
2. Attenuated pathogens
OBINTIODTIE T EER)
2. ¢

3. Activated pathogens

L x OESVEFHES)

4. Virulent pathogens
4% RO 5O OFEN

Question Number : 59 Question Id : 5244763959 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Antigen binding sites are located in

05r0e3BS BoAoN N &2 1Bod 7e3S ) On

Options :

1. Light chain of antibody
OSr0e3erd a308) 5703 e

2. Heavy chain of antibody

L x  OSPOESerd 38y 330 frencn



3. Fcregion of antibody

) OSroeSerdd aBwE), Fe |3r0es0
3.
4. Fab region of antibody
asroeSerd A3E), 3755 (B0HO
4. v

Question Number : 60 Question Id : 5244763960 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Hybridoma technology was developed by
SET Basm) 28R &3 (80D T35 ©98)98 B3
Options :

1. Beedle and Tautum
x DGS OGN TR0

2. Kohler and Milstein

. 5D o dEHonS
3. Nirenberg and Khorana
- QABS0D B T

4. Khorana and Korenberg

5 07" 0O FBDI0



Question Number : 61 Question Id : 5244763961 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The cross linkage of antigen cells by antibodies known as
03r0e32rER 7 s0° OIrot3BS eTred (7 DoBeS & 0L

Options :
1. Complement fixation

5% BESeD

], ®

2. Agglutination
- D080

3. Opsonization

20580230200

3. 23 L g | T

4. Cross-reaction
L 5°0-805°8.0

Question Number : 62 Question Id : 5244763962 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Counter-Immunoelectrophoresis 1s used to evaluate the
070 £0850 DONTRE TOEIB-RINES VS| S TR
C50030 0TI CEBROE




Options :

1. Binding of an antibody to its antigen towards each other

O50e32r B TR ASTOEBRS 2.5 EES 2505090

1. ¢
2. Binding of an antibody to its antigen parallel to each other
) A50e327A 2,5 EES HedTOBSOMT 7R OSTFOE3BSS 2205050
2.
3. Antibody will move towards anode
- A5roeserd oSS S5y E0enehH0b
4. Antibody will move towards cathode
L asroeSerd sE 6 B E0enenod

Question Number : 63 Question Id : 5244763963 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The length of the rocket in Rocket Immunodiffusion 1s

T°BES RIS BT30S Q) T7BES s

Options :

1. Tnversely proportional to the amount of antigen placed in each well.

19963 XS’ GO AF0e3BS FNTTIE DT (DTS,



2. Inversely proportional to the amount of antibody placed in each well.

1963 27D GO ASTF0E32rG RN DT (DTS,

2.
3. Proportional to the amount of antigen placed in each well.
L, e 23S BODS OITr0L3BS BNETVE (DBIDS.
4. Proportional to the amount of antibody placed mn each well.
La DB rDS GONS 0iroedert IS DSOS,

Question Number : 64 Question Id : 5244763964 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

are the antibodies that responsible for primary mmmune response.

BTPSNE BHEAOEE (635)0BSBY 29566 Hor0T |IBBRTeN.

Options :

1. % : IgA
L x 2 IsG
L 3 IeM



Question Number : 65 Question Id : 5244763965 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

ELISA stands for
ELISA €90

Options :

1. Enzyme-linked immunosorbent array

DOBN-O0F QAN 5 FDY0E 9D

], ®
2. Enzyme-linked immunosorbent assay
DOBN-O0T QNS PO )
2. ¥
3. Enzyme-like immunosimilar array
DOBED €703 RIS D €9 D
3. %
4. Enzyme-like immunosimilar assay
. DOBE €30S AN DO €5
4,

Question Number : 66 Question Id : 5244763966 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Pick up the correct answer for delayed hypersensitivity reaction.

2365350 298I 1¢3DeE3 BAITE.S §0 BN DT dotHE oS,



Options :
1. Type I hypersensitivity

B I 3708)0,)E3¢3
2. Type II hypersensitivity
A II 330BI)E3DeES
2.
3. Type I hypersensitivity
L DRI EHTINNEENES
3.
4. Type IV hypersensitivity
B IV 338)0)E3¢3
4. ¥

Question Number : 67 Question Id : 5244763967 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
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is used as a negative control in the skin prick test.
.S (D5 BRS D38 N 1€

% (S BOYE (00€357°€) OO BN
C0003H0I2CDER0A.

Options :

1. Codeine

YIS



2. Saline

- :rb@ngj
3 % 3. H.O

4. Histamine
L % 37“@"31)5

Question Number : 68 Question Id : 5244763968 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Poliomyelitis vaccine was developed by culturing the virus on the kidney cells of
&3 B0 220600 84 e S8R 030 DONE0 oo
SOOIV 3°58 J D €92)539Q DT

Options :

1. Cow
Lx o)

2. ‘Sheep
2. & ﬁBL_E’J

3. Monkey

e S



Question Number : 69 Question Id : 5244763969 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

is the process of mtroducing weakened pathogen into human body.
9D E DTV T EOTETON 37796 FOS06TE [HSF D
S a.

Options :

1. Virulence reduction
OB 510

)

IImmunization

. OHBEe

Ll

‘accination
e 8

4. Attenuation

ORANVGIIATS]

Question Number : 70 Question Id : 5244763970 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Polio viruses can multiply in of the human body.
OBV SBW 575369 I8B05Q S KON,

Options :

1. Kidney cells
a7 €800 Cs SeTren

2. Intestinal cells

L v oD Serew
3. Muscle cells
- E0c0ore Segre)

4. Nerve cells
% Sore> ggren

Question Number : 71 Question Id : 5244763971 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The resolution of the microscope is limited by

ISR ABE) B82OTEAS AR T°50° DONEHO DONVBOE

Options :
1. Refraction
Lx o (8880



2. Retraction

) % €500 O
3. Reflection

- (0€32)02>0
4. Daffraction

Lo QETES

Question Number : 72 Question Id : 5244763972 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

A digital image taken using a microscope is

DENFD SHTBFAOD B GBS B0 oD 2.8

Options :
1. Monograph
e ST
2. Macrograph
i : =
yw SR

3. Micrograph
DEETD

3. ¢



4. Pictograph
DETD

Question Number : 73 Question Id : 5244763973 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Centrifugation is based on

0355750 AR BB D) DWOED

Options :
1. Stoke’s law
e IBHyoQo
2. Fick’s law
8 8o
2. % =
3. Patrick’s law
(¢35 &0
3. % = ¥
4. Stain’s law
L DO O

Question Number : 74 Question Id : 5244763974 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which statement 1s true about chromatography.

BT |08 0220000 & (D83 D220.

i. Distribution coefficient of compound in stationary and mobile phase.

ii. Physical process of separating or analyzing complex mixtures.

ii1. Gravitational force influence to separate the substance according to their density.

iv. When components pass through the system at different speeds. they separate at certain times.

i DS KB050 IO B3 D00 B, HDONES Heaso.
ii. Q08N Fe1°00 FNT R B DBNO0D 2738 (IEAD.
iii. (DO 50 38 (2327790 DT, °¢E3 V055 [D5H0 33D DAOE.
iV, 2P0 S0 SH0S DOS HOT° TS DI, @ DB HeHOSTES

) C3FETOW.
Options :
1. 1andionly
. i SDBO ii 8357 EH

2. 1and i1 only

i SDBO iii s3T5

3. 1 and 1v only

iii e iV 6357 5o

4. 1,1 and iv only

i, ii QOO iv SIS

4. ¢



Question Number : 75 Question Id : 5244763975 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Electrophoresis was developed by
DS SFDVR S8 TV T3 S0° €98)599 D DONDR0E
Options :

1. Ame Tiselius

- e3D) E3OCHD

2. Mikhail Tswett
- DP°ONO &3 &

-

3. Frederick Sanger

s x B8 arofo

4. Theodor Svedberg
SO0 B0

Question Number : 76 Question Id : 5244763976 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
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Choose the wavelength range that corresponds to UV-Visible region.

UV-Vis $QD0D ([P0T8 e9dMHEIOMT 50T 5S00BY50 DB
DOTVT 0D

Options :



1. 100-600 nm

1. %

2. 200-700 nm
2. %

3. 200-800 nmm
3. ¢

4. 100-800 nm
4. %

Question Number : 77 Question Id : 5244763977 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
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Western blotting is the technique that used to identify

IS 2re30h 9o HB0IERE BABTAOD IrO3e3Eeb

Options :
1. Specific proteins in the sample

5 Q) DO eI

1. ¢
2. Specific DNA in the sample
- Ssrrey” DB DNA

Specific glycolipid in the sample
HrreY’ AN ASODE

ok



4. Specific toxins in the sample
AT ' O €8IS

Question Number : 78 Question Id : 5244763978 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following statement 1s correct about polymerase chain reaction?

FONTR TS BAITES HOOD 8od 73S HBIE A?

Options :

1. Ttis a RNA denaturing technique
. BORNA Se)000 8 S

2. TItis a RNA amplification technique

. 3QORNA OSPOVDB® ©8) 5

2.

3. Itis a DNA denaturing technique
.« @ODNA &800 B8 §

4. Ttis a DNA amplification technique

36 DNA OSPOd08a® B8)§
4.

Question Number : 79 Question Id : 5244763979 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
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Polymerase 1s obtained from which can work at high temperature with high efficiency in
PCR.

PCRES @9OF 085088 e908 &8 115 9O D TADNHS aFOHTR

&2 1800 2255 8800 OB SFPO2CNH0A.

Options :
1. Saccharomyces cerevisiae
. IS0 R0 DBV
1.
2. Escherichia coli
) % DDA §E)

3. Homo sapiens

U DO
3. %
4. Thermus aquaticus
y OB es3° ee38D
4.

Question Number : 80 Question Id : 5244763980 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

is the most important theory of evolution by Darwin.

"0 50 QPO 0NN 55065 DT BT VP00 DA,

Options :




1. Natural set

. HaF3 D

-

Natural selection
s OO 008

4D

Nomenclature
. ron8Se0

4. Name selection

L o300 )RS

Question Number : 81 Question Id : 5244763981 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

passes blood to the kidney.
8(3) 8 35 HONEOD.

Options :

1. Renal artery

T E5OCE )

1.¢

Z2. Coeliac

R s



ad

Cystic

4. Common illiac
0 QEOATS

Question Number : 82 Question Id : 5244763982 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The main function of Henle’s loop is
2D OFD BNEY, (DTS DE
l.  recovery of water from urine
ii. recovery of sodium chloride from urine

i11. helps conservation of urine
1v. filtration of blood

i S0 OB VE3 BESD

i, S50 OB FEAHO §BE 65556
iii. o007 €5 QOGS £250 DFFANNCREBDOE
iv. 380 CBNEY SCHsIeS

Options :

1. 1andiv only

NV GIOV I BLAN VLTINS

2. 1andiv only
ii SOOI iV o375



- mE awn

3. 11 11 and iv.

“ i, iii OO iv

4. 1,11 and 111

4.9 i, ii 02080 iii

Question Number : 83 Question Id : 5244763983 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Pick up the correct reason for bicuspid and tricuspid valves closure.
A D€ sDBAN (3259237578 ET"EIEN T3 ONTTVE OB S ATV

S0H0G.
Options :
1. Ventricular filling
L J01€380500 DO OH
2. Ventricular relaxation
- S301E380550 HBE0N))

3. Attempted backflow of blood into the atria
9| ¢305TCS 8 B850 SO (HIeTOD 1505 0

3.¢



4. Atnal systole
508 S

Question Number : 84 Question Id : 5244763984 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

1s the normal blood pressure of a healthy human being.

235155850 A7PeYR) rTden BEEE

Options :
I. 110/80 mm Hg

1. ®

, v 2. 120/80 mm Hg
;% 2. 110/90 mm Hg
L 4. 130/90 mm Hg

Question Number : 85 Question Id : 5244763985 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
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As serum lacks. thus differs it from blood.
DB’ 80B B0 BIOKND, O B50 OB 2)5) O BOENOD.

Options :



1. Clotting factors

Lo BGED sden

2. Antibodies
L x DOBOPseN

3. Globulins

. 02098)
4. Albumins
Lx SO

Question Number : 86 Question Id : 5244763986 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Plasmin is an enzyme that help to
o" 2020 208 OB, VA B DO e*ONNCREDOE
Options :
1. Immunity

. BRIESE 58

2. Dissolve clots in blood vessels

&8 rereeS (e 8800

2.¢



3. Wound healing

3 % OO OO

4. Allergy response
B8 (56337005

Question Number : 87 Question Id : 5244763987 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
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Among which, prevents the clotting of blood in blood vessels.

HESES® 2,563 B 330 KBELTR) AEBNOB.

Options :
1. Heparin
L %00
2. Fibrin
AP CALS
3. Fibrinogen
DSBS
3. % A

4. Serotonin

DS DD



Question Number : 88 Question Id : 5244763988 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Parathyroid hormone helps to

O ZOONE D20 BIE OIFANICREBOD?
Options :
1. Decrease blood sodium concentration

58065 FEONO Tehed DO

2. Regulates blood sodium concentration

B3E0" FAONO TFEHes DADOSBVOE

3. Decrease serum calcium concentration

B0 52EONO TEhed PSSO

4. Regulates serum calcium concentration
B0 5POANO MPEHEHR AANOE3DOE
4. v

Question Number : 89 Question Id : 5244763989 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

1s the neuronal junction that transmits nerve impulses between two nerve
cells or between a neuron and muscle cell.

R DO NT ST S B 5070 DO 0T
€90 0055 ST BN (DRTB0 T °¢s 2208.8.




Options :

1. AxXon
S50

12

Sacral nerves

SO dBnen

Ll

Neurotransmitter
V(S (AR INITALS

4. Synapse

FATN AN
4.

Question Number : 90 Question Id : 5244763990 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

is attached by the ligament.
DO TPLT° 235TODDB0E.

Options :
1. Muscle to the bone

oS30 000

2. Bone to the bone

2DoNESD Dad0E



3. Cartilage to the bone

: 2oNEBV DY CNETR
4. Tendons to the muscles
0GTTOR) ) C3NeHEN
4, %

Question Number : 91 Question Id : 5244763991 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Gluconeogenesis takes place in

HES BAVD &) 2350 23K05e0E0

Options :
1. Muscles
- 0cs0ren
2. Blood
S50
2. % =
3. Bones
Do Een
3, %
4. Liver
SO

4. ¢



Question Number : 92 Question Id : 5244763992 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
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In the following hormones, 1s not involved in hydrolysis of triacylglycerol
into fatty acids in adipose tissue.
80O SN, Y § 869257006 5§ BTN (EIOTRS AT S0

2200308 DONBOS’ TP .
Options :
1. Insulin
- Q0D IO®
2. Glucagon
s % (DETTRS
3. Epmephrine
- NSNS

4. Non-epinephrine
OP-0)a) 0 DD

Question Number : 93 Question Id : 5244763993 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
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are blocks of mesoderm that are located on either side of the neural tube
in the developing vertebrate embryo.
292)9B TOCVEAN) DEFDE DOGBOES 53sBS arseS B
BEF NCF SO DT 2T,
Options :
1. Neural tube
A0S Eaxesd

2. Neural crest
S5 8S (B

2. %
3. Somites
)
3.¢ e
4. Adrenal medulla
L I AIO JHEF

Question Number : 94 Question Id : 5244763994 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
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Placoid scales are seen in
FEONE (DITETEN &2 (B0 TN EIDHTON

Options :



1. Cartilaginous fishes
SDYENETD THEW

1.v
2. Bony fishes
- 290 TN

3. Lung fishes
2RO TDHEN

4. Paleontological fishes
T EOTBrOLTer3ES THEN

Question Number : 95 Question Id : 5244763995 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
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is the type of Pisciculture.
QO DB BEo.

Options :
1. Monoculture

DED0DY e

2. Polyculture
) % e O



3. Monosex culture

. SS R5 ) DO e3
4. All the above
DO
4. &

Question Number : 96 Question Id : 5244763996 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
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Phylogeny i1s the study of

DB OO T 98I SONHO?

Options :
1. Origin and development of plants

08 N0 BAID €92)deE

1, *
2. Evolution of plants
s o DO DOETNO
3. Physiology of plants
L %o d BEE3 N0
3.

4. Biological oxidation of plants
00530 2855 €38 38850
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An auxanometer is used for in plants.
08 e §°00 €357 1S D SO A0TICEROE.
Options :

1. Measuring the rate of photosynthesis
8923005 DOITHBOD DED §'r65¢50

1o

Measuring the rate of respiration
sk F50 DEND §exeIh0

)

Measuring the rate of transpiration
1E50)BA® BEND §ex63¢50

4. Measuring the rate of growth
iv 99 DEND Ee¢80

Question Number : 98 Question Id : 5244763998 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
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In phase. the bacteria show exponential growth curve.
A3, 2358805 HEr0d NS H|FH% TN

Options :



1. Log phase

v ShH &%

2. Lag phase
- ef S

3. Stationary phase
- QFye 5%

4. Decline phase
8 £a65 5%

Question Number : 99 Question Id : 5244763999 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
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Which statement 1s incorrect for gram-positive bacteria?
T0-723¢3S 235880550 022000 & [HDFEIS 55))?

Options :

1. Cell wall has thick peptidoglycan layer
S h sHOGES DRETTS PG EDR 500D

2. Lack of outer membrane

250063 P BEESB0



3. Lower lipid content

. 550009 O S0T0E
4. Cell wall has thin peptidoglycan layer
RO 7 D) DRETSS FPBD OB 0En0d
4. ¢

Question Number : 100 Question Id : 5244764000 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The prominent mode of nutrition seen in bacteria i1s
273805 80D (DTSR FPASEFE D0

(=]

Options :
1. Only heterotrophic
. RO ETDE A7 B
2. Only autotrophic
. e3EY 1" DT 07 eHaD
2.

Both 1 and 2
Lo 1000w 2 Bocer

L

4. None of the above

) B



